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Download:https.//drive.google.com/drive/folders/OB 75b5xY Lj SSNbmNsWnFEczRBdUO?usp=sharingQUESTION 179Which
option is an advanced congestion management mechanism?A. weighted fair queuingB. policingC. payload compressionD.
header compressionAnswer : AQUESTION 180Which option is an example of physical device virtualization?A. VSSB. VPNC.
VRFD. VLANAnswer: AQUESTION 181A data center is being deployed, and one design requirement is to be able to readily
scale server virtualization. Which IETF standard technology can provide this requirement?A.  Transparent Interconnection of Lots
of LinksB. Cisco FabricPathC. datacenter bridgingD. Cisco Unified FabricAnswer: AQUESTION 182A company would like
to distribute aVVM hosting cluster between three data centers with the capability to move VMs between sites. The connectivity
between data centersis IP only, and the new design should use the existing WAN. Which Layer 2 tunneling technology should be
used?A. VPLSB. L2TPv3C. OTVD. AToMAnswer: CQUESTION 183In which two placesis redundancy recommended in
an enterprise campus network design? (Choose two.)A. building distributionB. campus coreC. building accessD. e-commerce
E. Internet connectivityAnswer: ABQUESTION 184What are two purposes of route redundancy? (Choose two.)A. minimize the
effect of link failuresB. minimize the effect of internetworking device failuresC. minimize the convergence time of STPD. load
balance across redundant pathsE.  save network costsAnswer: ABQUESTION 185Which two statements are true regarding a
hierarchica network? (Choose two.)A. facilitates choosing the type of routing protocols to be used in the network B.  provides
scalability without affecting other layers and functionalityC. provides better performance as network resources are efficiently
utilizedD. limitsredundancy at the distribution layerE.  complicates manageability because of the added securityAnswer: BC
QUESTION 186Which two Cisco data center devices can participate in Cisco FabricPath? (Choose two.)A.  Cisco Nexus 5500
Series SwitchesB.  Cisco Nexus 1000V Series SwitchesC.  Cisco Nexus 7000 Series SwitchesD.  Cisco Nexus 4900 Series
SwitchesE. Cisco MDS 9500 Series Multilayer DirectorsAnswer: ACQUESTION 187Refer to the exhibit. Assuming that a
network will grow exponentially for the next 24 months, what is the main limitation that must be addressed? A.  scalabilityB.
serviceabilityC. redundancyD. resiliencyAnswer: AQUESTION 188A network engineer is tasked with summarizing the routes
to aremote site. What is the optimal route statement to connect to the 192.168.101.0/24 and 192.168.102.0/24 networks across the
corporate WAN?A. iproute 192.168.100.0 255.255.254.0 10.1.1.1B. ip route 192.168.100.0 255.255.252.0 10.1.1.1C. iproute
192.168.100.0 255.255.255.0 10.1.1.1D. iproute 192.168.101.0 255.255.254.0 10.1.1.1Answer: BQUESTION 189Refer to the
exhibit. Where should routes in the routing table be aggregated or summarized? A. in the core toward the data centerB. inthe
distribution toward the accessC. in the core toward the distributionD.  in the distribution toward the coreAnswer: D
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